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QUESTION 1

Which protocol connects multiple autonomous systems?
A. OSPF

B. 1S-IS

C. IBGP

D. EBGP

Correct Answer: A

QUESTION 2

What are three functions of the RE? (Choose three.)
A. to maintain the forwarding tables

B. to enforce stateless firewall filters

C. to manage the PFE

D. to monitor the chassis

E. to implement policing

Correct Answer. ABD

QUESTION 3

Which output displays that the peer has been selected for NTP synchronization?
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Ouserfrouter> show ntp associations
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remote refid st t when poll reach delay offset

-172.25.11.254 10.210.8.72 3 - 28 256 377 0g2 0.149
Ouserfrouter> show ntp associations

remote refid st t when poll reach delay offset

jitter

T T

172.25.11.254 10.210.8.72 3 = 28 256 377 0.682 0.14%9 0.249
Ouser@router> show ntp associations
remote refid 2t t when poll reach delay offset jitter
*172.25.11.254 _ID‘;LG‘S‘?}! 3 - 28 2586 377 [ ;?2 0 I—lf—i 0.2459
O userfrouter> show ntp assoclations
remote refid st t when poll reach lay offzset Jjitter
£172.25.11.254  10.210.8.72 3 - 28 256 377  0.682  0.149 0.2481
A. Option A
B. Option B
C. Option C
D. Option D
Correct Answer: C
QUESTION 4
What are three characteristics of Layer 2 switches? (Choose Three)
A. Layer 2 switches separates multicast domains.
B. Layer 2 switches separates collision domains.
C. Layer 2 switches forward traffic addressed to hosts that reside on the same collision domain.
D. Layer 2 switches forward traffic addressed to hosts that reside on a different collision domain.
E. Layer 2 switches forward broadcast traffic.
Correct Answer: BDE
QUESTION 5
Which system-defined user class is able to perform all operations on a device?
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A. operator

B. authorized
C. read-write
D. super-user

Correct Answer: D
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